

$$e^{+u} \Delta^{-\nu} = (\nu)^m H_m^u \bar{G} \sum_{H \stackrel{\#}{\sim} \bar{G}}^m d_m$$

$${}^g \delta_e = \bar{g}^\gamma \int_{\bar{G}}^{d\gamma}$$

$$e^\gamma = \frac{\hat{g}}{\wedge} = \hat{\gamma}_\gamma e^\gamma \int_{\bar{G}}^{d\gamma} = \int_{d\bar{g}}^G {}^g \gamma \bar{g}^\gamma e^\gamma \int_{\bar{G}}^{d\gamma} = \int_{d\bar{g}}^G {}^g \gamma \bar{g}^\gamma \int_{\bar{G}}^{d\gamma}$$

$$\delta_e = H_m^u \bar{G} \sum_{H \stackrel{\#}{\sim} \bar{G}}^m d_m$$

$$\delta_K = K_\lambda^g \bar{G} \int_{\bar{a}}^{d\lambda} c(\lambda)$$